
BKS KLASİK GİYOTİN ISI CAMLI HESAPLAMA VE ÖRNEK ÇALIŞMASI (EN: 2800 X BOY: 2500)

Cam Yükselik: 2500 - 240 = 2260 / 3 = 753 + 16 = 769 

Cam : 2800 - 114 = 2686 Genişlik

Kenet: 2800 - 154 = 2646

Cam Yükselik: 2500 - 249 = 2251 / 3 = 750 

Cam : 2800 - 114 = 2686 Genişlik

Cam Yükselik: 2500 - 240 = 2260 / 3 = 753 + 2 = 755 

Cam : 2800 - 114 = 2686 Genişlik

Baza: 2800 - 154 = 2646

Tambur: 2800 - 65 = 2735

Ana Prol ve Kapağı: 2800 - 10 = 2790

Küpeşte: 2800 - 160 = 2640
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Kenet: 2800 - 154 = 2646

Kenet: 2800 -154 = 2646

Kenet: 2800 - 154 = 2646
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Alt Kasa: 2800 - 46 = 2754
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